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(i)
(i)

INSTRUCTIONS

Immedintely after the commencement of the Examination, before writing the Question Booklet Version
Code in the OMR sheet, vou should check that this Question Bookles does NOT have any unprinted or torn
OF IMissng pages or questions e¢. 11 so, get it replaced by o complete ‘Question Booklet’ of the avmlable
SETIes.

Write and encode clearly the Register Number and Cuestion Booklet Versi
of H us the casé may be, in the appropriate space provided for that pu
Sheet, Also ensure that candidare's signature and Invigilator's Sign
filled In. Please note that it s candidate's responsibility to fill in these particulars and
any omission/discrepancy will render the OME Answer Sheet H’p Jectiien.

You have to enter your Register Number in the ungg“.-tgr Number
Cuestion Booklet in the box provided alongside.
DO NOT write anyvithing else on the Cruestion Booklet.

'!5 L} SEE:ﬁ % contains 1040 Euﬂtlnnl. 1:. o contans four responses (answersk
et the response w vou want 1o on the heet. In case you feel that there is mone than
e correct response, mark the response which ider the most appropriate, In any cose. choose
ONLY ONE RESPONSE for each questiong

All the responses should be marked ONLY m parate OMR - Answer Sheet provided and ONLY i
Block or Blue Ball-point Pen. See 1 iPfhe OMR Answer Sheet.

All gquestions carry equal marks. A uestions,

Sheets for rough work are appended | estion Booklet at the end. You should not make any marking
on any-other part of the Qoestiondo

Immediately after the final duﬁmnﬂ the conclusion of the exnmination, stop making any further
markings in the Answer § till the Answer Sheets are collected and accounted for by the

Code A, B, T, ......
the (MR Answer
mns ure properly

Inviglaror.,
Duestions are print in English and Kannada. If any doubt arises in the Kannada Version,
rifer to the n of the guestions, Plesse Mote that in ease of any dispute the English

Version of
Penaliy for wrongwnswers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE OBIEC-
TIWE TYPE QUESTION PAPERS,

There are four alternative for the apswer o every question, For each question, of which a wrone answer
has E;r:m giveny by the candidate, ene-fourth of the marks nssigned (o that question will be deducted as
penalty,

If a candidate gives more than one answer 1o 4 question, it shall be treated as a wrong answer even if one
of the given answers happens 10 be comeet-and there shall be same penalty as above o that question.

1§ u question is left blank, ie., no answer is given by the candidate, there shall be no penalty for that
guestion,

Possession of Mobile Phones, Caleulators and other Electronic/Communication gadgets
of any kind is prohibited inside the Examination venue.
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Study the following figure and
ANSWEr
below :

the question given

] — Married people
O — Penple who live m joimd Family
& =+ School wachers

By which letter, the married
people who live in joint family
but not are school teachers are
represented 7
(a}y T
e} Q

(b} R
{d) S

Eight friends E, F, G, H, 1, J,
and L are seated arougd
square table — two on eac
There are 3 girls wha a

—

seated next to each otley. ©

* | is between L y

o (iis betw nd F.

e H agi nd to the left
of J.

» F, a boy is seated opposite to
E, a lady member.

e There is a girl between F and
1. What 15 true about J and K 7

(a) Jisboy, K is girl
(b) J1is girl, K is boy
(c) DBoth are girls
(d) Both are boys

XMP-MAS-552-PYP
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(3-A)

583 people can make 385
baskets in 385 days. All the
people work at the same rate
and all baskets require same
effot. How long will one

person take to prepare two such
baskets 7

(a) 385 days
{c) 1166 davs

(b) 583 days
(d) 770 days

Read the g informations
carefull answer  the

qum@ en below :
o e sum of the income of

(éﬂvu and Shyamu is more than
¢ sum of the income of

fb. Chandru and Deepu. The sum

of the income of Ramu and
Chandru is same as the sum of
the income of Shyamu and
Deepu. Moreover Ramu eams
half as much as the sum of the
income of Shyamu and Deepu.

Whose income is the highest ?
{(b) Shyamu’s
(¢) Chandru's (d) Deepu’s

(a) Ramu’s

Look at the senes 3, 10, 101....
What number should come next ?

(a) 10101 (by 10201
(c) 10202 (dy 11012
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Consider the following four
figures,

R

Which one of the following
figures fits in the fifth place ?

(a)

(b)

(d)

x

Let A, B, C. D, E and #& 4
group of frends. T
housewives, one S80T, One
doctor., one
lawyer in t up. There are
only two d couples in the
group. The lawver is married to
D, who is a housewife. No
woman in the group is either a
doctor or an engineer, C, the
engineer is married to F, who is
a professor. A 15 married to a
housewife. E is not a housewife.
Which one of the following is a
married couple ?

{a) Aand B
{c) DandE

{(b) BandE
{(d) Aand D

{2-A)

As a Municipal Commissioner
vou are crticised for the
ihcrﬂﬂsing pig menace. These
pigs belong to a community
very close to the local MLA. It
would be very difficult for you
to shift the pigs, as they manage
to come back. Some of the
leaders also convince you thar
ge problem by
Consumj em. Your local
lowgr/ rting authority resorts

;‘ming pigs. One such

(& let pierces the legs of a kid.

pigs solve

b.& It results in a huge unrest, What

would vou do ?

(a) Immediately stop shooting
of the pigs and dismiss
your reporting authority
who ordered the shooting.

(b) Defend the reporting
authority and stick to your
stand and continue the
shooting.

(c) Defend vyour reporting
authority and suspend the

shooting operations,

(d) Suspend all operations and
keep quiet until everything
subsides.
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One of the commercial movies to
be released has raised a lot of
controversy as the theme is
against the principles of a local
minority religion. But the Theater
owners and the Producers of the
film have obtained permission
for the release and viewing of the
films for public. Suddenly you
find a large number of local
vouth and persons of dubious
character stoning the Theater and
stopping viewers from entering
the theatre, The owners are
asking vou. a local senior Police
Officer to take charge and permit
viewing. What will you do ?

(a) Have a discussion with th
local youth and the sociefy,
leaders to stop the
and permit

(b)Y Use force to e local
leaders a vouth and
permit viewers (o view
the fi

{c) Ask the Theater owners to
suspend the release of the
film for sake of safety of
the property.

(d)  Arrest all the youth and

local leaders protesting and
allow the viewing of the
film.
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(7T-A)

Ny

viewi&
unlikely to agree.

11.

In a crowded market place
around 7.30 P.M. there is a
bomb blast. Many people are
feared to have been killed
and/or seriously injured in the
blastt You are a senior
administrative officer in-charge
of the district. You got the
information of the blast at 7.35
P.M. You will
(a) Personally rush to the
place of occurrence and
start sending the dead and
injured _to the local

hospi '
(b) Ask lice, health and
ci thorities to swing

ction and also sound

alarm at the major
&Qmspimls for emergency
duty.
¢) Be in touch with the anti-
terrorist squad of the State
headquarters to provide
expert help.
Call a press meet to tell the
press people of the incident
and to request them not to
publish unverified infor-
mation.

(d)

You are the Chairman of the
Selection Committee, two of
your committee members of
equal rank enter into an heated
argument over the choice of
candidate, vou will

(a) Ask  the two  to
comipromise

(b) Allow the two to fight and
find their own solution

(c) Not consider their view
point of conflict

(d) Evaluate the pros and cons
of their argument and
decide




12. 500 dany womb PEobsy wRchd
wheud Ly vortacing 20% omy
sl lema® awooud
FotyrsD wonbobsit Saata
ol ed 10% Solndbicha
wmEd voractT dnm onp
el il 7
(o} 7%

[c) B%

(b}
(d)

T %
B3 %

13. stder’ aoun® Senu 3 Saenrl
T2 SEEd, 6% waobed, FesTd
5 @wEendt  Z3aaEed, o
wEcbod S% s SaEFnPomddd
BASAED, 13% wRobod ol
Boaldy, o J@ciimd Sxdz
SUTs WovuGolh ooZdd 11
SHETIVY @o3T sz’ win 8160
SRV Romod Snagd, wE

Hatiacds Tud 2% oy 7 \
(a) dm.sooo (b) ﬁm%
|

(c} oDw 12000 (d) 0

14.

75 #20e. To
NEgEd. 600 ot woITROTE
=T T e iedath fop sl JeR T T

S Wehod Sricdavzd 0
(a) 6riod 21 Ado
(b) ©mMoed 24 Rona
(c) & rodd 27 Do
{(d) & rioed sp oo

XMP-MAS-552-PYP

1

15. rom Thend dneund) 205 O3E
roead) Aad Ditssy
FIhesdoomn TABY adEted
rommctevs dertdd. decey

Bttt otk nomh Demdgd
oosde o eob  oUmrbdcd
hadde O meayrtgd. mede B
ookmrtgd. Lol noms Dembod
wdoll, ech zoo wScho-dettiony

esrtaday eo 30 &8
2rictdno @ Dembod
Mg/ ¢ Sdcd mned
%’ uth  oF o

voEnd

(b'&{a"l 16 O
(by 15 &#

(c} 1708
(d) 2987
16. A dood B Sow FVE, Betrbicod

LEf SRreod 3 FomodEad
anskche ede® dd x oe und
50-X HomeTt fDoingnsd
2ot Rvedmennd. dSdady
rogiabudemad, wéua o9

a%ﬁaﬂtﬁ ?
(a) 15¢s {b) zoca
(c) 2508 (d) aooe

(B-A)




12. By selling an umbrella for
T 300, a shopkeeper gains 20%,
During a clearance sale, the
shopkeeper allows a rebate of
10% on the marked price. The
percentage of the shopkeeper’s
gain is
(a) 7%
(c) 8%

(by 7%
(d) Ra%

13. Natesh borrowed some money at
the rate 6% p.a. for the first 3
vears, 9% p.a. for the next 5 yvears
and 13% p.a. bevond 8 years. The
above are all simple interest rates.
If Natesh pays a total of T 8,160
after 11 vears, how much mo
did he borrow ?
(a) ¥ 8,000

(¢) T 12.000

(by ¥
(d)

T

4. velled at an
f 100 km/hr,
3 minutes after
every 75 km. How much time
does the train take to travel
between two places which are

600 km apart ?

(a) O hrs2] mn.
(b) 6 hrs 24 min.
{c) 6 hrs 27 min.

(d) 6 hrs 30 min.
XMP-MAS-5351-PYP

An express trai

h

(9-A)

S

15. The seed of a particular varnety
of a rose in a rose garden,
multiplies into 2 everyday due
to reproduction. If there is only
one seed on the first day, it
increases to two on the second
day, increases to four on third
day, increases to eight on fourth
day and so on. If starting with
one seed it takes 30 days to

cover E@H meters plot,
how | il 1t take to cover
lhe@:ﬁp]m if started with two
eds 7
a) 16 days
(b) 15 days
(c) 17 days
(d) 29 days

On a bus route from place A to
place B, if the fare is kept at ¥ x
then 50-x
passengers are expected to
travel. What should be the fare
in order the
revenue 7
(a) 15
(b) <20
(e) ¥25
(d) T30

per  passenger,

o maximize
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17. The number of triangles in the
following figure is
(b) 10

(¢} 12

(d) 14

(a) B

18. A cube is taken and all its six
faces are painted. Then, the
cube is cut by six planes, so as
to yield the maximum number
of smaller cubes. If 3.5 litres of

additional amount o

needed to paint all the u?
faces of all the smallek cubes.

paint was consumed to paint t
original  cube, find !E

{a) 3.0 litres
{b) 11.5 litres
{c) 7 litres

(d) 10.5 litres
XMP-MAS-552-PYP

(11-A)

The following pie charts shows the
distribution of students of graduate
and post-graduate levels in seven
different institutes in a town. Answer
the following two questions : (Q.

MNos. 19 & 20)

Distribution of Students at
Graduate and Post-graduate levels
in seven institutes

Total Number of Stwbents of Gradoste el = 273500

16% 155

19. What is the ratio between the
number of students studying at
post-graduate and graduate level
respectively from institute S 7
(a) 14:19 (b} 19:21
() 17:21  (d) 19:14

20. Total number of students
studying at post-graduate level
from institute N and P is
fa) 5601 (b) 5944
{c) 6669 (dy 8372
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Directions :
two questions {(). Nos, 21 &
22) from the fgure given
below : Department of Health
and Family Wellare,
Government of Karmnalaka has
published Swine-1lu cpidemic
situation  in from
2009 to 2015,

Answer the following

Karnataka

=#— “yylser ol Pty §onkes
i ubiiber f 13ewils

1300

Sommiliir il jersdis
L

Vewr

23.

Male and female population of a
country (in lakhs) for the period
2008 to 2013 are presented in

the following graph :
Sk
LI
28 R
49 N 1 = =
Tk il B 104 b1
[] mtate EJx
In how the given years,

due 1o Swine-tlu ¢m
among positive cases 15
the year 5
(a) 2009 010
(cy 2011 2013

22. What is the trend of the

percentage of deaths due 1w
Swine-flu epidemic from 2009
1020147

(a)
(b}
(c)
(d)

XMP-MAS-552-PYP

Mon-increasing
Non-decreasing
Steady

Fluctuating

®©
21. Maximum percentage of dea:h&\*

<

was 1 e population atleast
10% re than the female

lation ?

3 (b} 2
g} 1l (d) 0
A survey was conducted to
analyse the public ﬂﬁiniun on
liquor ban in a city. The opinion
recorded based on @

uestionnaire is given in the
ollowing table :

For |Against| No | Total

ban |ban opi-

nion
Women| 920 380120 14207
Total | 1000 16707 2307 3500 ]

(13 -A)

Identity the most appropriate
statement.

(a) More women are against
banning liquor.

{b) More men are against
banning liguor,

(c) More men are for banning
liquor.

(dy More than 10% men have
no opinion.
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25. The Success of Agriculture in
India depends on rainfall. 80-90
per cent of rainfall over the
country occurs mostly during

(a) North-west monsoon

(b) North-east monsoon
(c) South-west monsoon
(d) South-east monsoon

26. Which of the following handloom
product of Kamataka has been
registered  under  Geographical
Indication of Goods Act, 19997
(a) Udup Saree
{b) Melukote Panche
(c) Mysore Silk Saree
{d) llkal Saree

27. The Sakala Mission has °

. 1SO 9001:2008 ceniﬁ@'

II. Won many natio d
international  awards~ for
excellence in service
delivery.

111. The be

IV. World Bank funding and
technical support.

Choose the correct answer from
the codes given below :

Iand 1l

I and I

I, 1l and 111
11, 11l and IV

(a)
(b)
(<)
(d)

XMP-MAS-552-PYP
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28. FElectricity Tanft is determined by
{a) State Government
(b) Central Electricity
Authority

Karnataka Electricity
Regulatory Commission

(KERC)

Karnataka Power
Transmission Corporation
Limited (KPTCL)

MNational gute  of Wind
Em:rgyO'. stablished in which

city ?
Ia}cyew Delhi (b) Chennas

(bu ® Calcutta  (d) Bengaluru

. Under Ksheerabhagyva Programme
milk 1s provided to school children

(c)

(d)

29,

days i a week.
(a) 6 (b} 3
(e) 5 (dy 4

31. What is the present Investment
Limit in Plant & Machinery to
determine *Small Scale
Manufacturing Enterprise’ 7
(a) Above T 25.00 lakhs upto

T 200.00 lakhs

Above ¥ 25,00 lakhs upto
¥ 30000 lakhs

Above ¥ 25.00 lakhs upto

T 400.00 lakhs

(d} Above ¥ 25.00 lakhs upto
T 500.00 Jakhs

(b}

(€)

Al
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32,

33,

of

€%

“Manaswini”  programme

Karnataka Government 1s

provide,

(a) Pension T 500 per month
to more than 35 years old
unmarried and divorcee

women of BPL.

(b) Pension ¥ 600 per month
to more than 45 years old
unmarried and divorcee

women of BPL.

(c) Pension ¥ 300 per month

to more than 40 years old
unmarried and divorcee
women of BPL.

id)

women of BPL. °

Which of low mentioned
are the dual purpose breeds of
cattle (Milch and draught
purpose) in Karnataka ?

(a) Amnthmahal and Hallikar
(b) Killar and Malenadu Gidda
(c) Devam and Krishna valley
(d) Sahiwal and Kankre|

XMP-MAS-552-PYP
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34,

35.

>
>

36.

A)

The Deputy Chairman of
Karnataka State Planning Board
IS

(a) C.M. Ibrahim

{b) T.B. lavachandra

(¢) Prof. Dr. Mumtaz Ali Khan
{d) D.H. Shankar Moorthy

While travelling on Highway, if
the kilometre stone 1s marked

(painted) with white and
semicircula ortion of km
stone 1s ed with brilhant

gree r, then this Highway
o w
State Highway

National Highway

(c) Express way

y (d) Major District Road
Pension ¥ 800 per month

to more than 40 3&3@
unmarried  and diu%

The MGNREGA guidelines
mandates  maintenance  of
minimum ratio of wage 1o
material expenditure by each of
implementing agencies as,

(a) 40% wage expenditure :
60% material expenditure
in one year for all works.
60% wage expenditure :
40% material expenditure
in one year for all works,
60% wage expenditure :
40% material expenditure
for every work.

40% wage expenditure :
60% material expenditure
for every work.

(b)

(&)

(d)
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37.

8.

39.

The Ministry of Environment,
Forests and Climate change
provides financial assistance to
Eco-clubs 1o promote
environmental awareness and
educate school children under

the programme

(a) National Mission for a
Green India

(b) National Eco-club Programme

{c) National Green Peace
Programme

(d) National Green Corps.

“Dr. Salim Ali" 15 a well known

(a) Ornithologist

(b) Biologist

(¢) Environmentalist
(d) Dermatologist

Which of the lowing
scheme/programm the
Karnataka St ernment
secks to promote tree planting
by public™or farmer by
providing seedlings at

subsidised rate to the people ?

{a) Samrudha Hasiru Grama
Yojne

{b) Krishi Aranya Protsaha
Yojne

(c)
(d)

Devadeva Vana Yojane
Vana Bhagya Yojane

XMP-MAS-552-PYP
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41.

,2&{'&} Hampi
. k

41.

43,

40. As per the report of the High

Level Working Group (HLWG)

on Western Ghats headed
by Dr. K. Kasturirangan,
approximately  how  many
villages of Kamataka were

included as pant of Eco-

sensitive Area (ESA}?

(a) 80O (b) 1500
(©) 500 (d) 2500
Which of @E}w mentioned
town selected  under
HRI (Heritage ~ City

velopment & Augmentation
a) scheme in Karnataka ?

(b) Bijapur
{c) Bidar (d} Badami
What is the tenure of Mayor and

Deputy Mayor of a Corporation
as per Kamataka Municipal
Corporation Act, 1976 7

(b)

(d) 3 years

(a)} 5 years | year

(¢) 2'4 years

The total numbers of National
Parks and
Karnataka are

(a) S and 27 respectively
(b) 6 and 25 respectively
(¢) 4 and 23 respectively
(d) 6 and 29 respectively

Sanctuaries in
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44. ‘Bala Sanjivini® is a programme
meant o provide
(a) Tertiary level Medicare for

anganwadi  children in
selected hospitals  across
the State.

{b) Health care for school
going children across the
State,

Medical insurance scheme
for all the children across
the State,

(d) MNone of the above,

(c)

45. . @4 web based application
of the Survey Settlement &
Land Records Department, is
used to issue the pre mutation
(11E) sketches to the citizens
{as mandated by the Karnataka

Land Revenue Act).

(a) Bhoomi .%,
(b) WNadakacheri

(¢) UPOR \Qx
(d) Mojani - %

46. How many seats
Rajya Sabha (C

for Kamata Y
(a) 10 (b)y 12
(c) B (dy 14
47. As  per Plastic  Wastes
(Management &  Handling)

Rules, 2011 manufacturing of
plastic bags less than
thickness 1s banned,

{a) 25 microns

{(b) 30 microns

(¢) 35 microns

(d} 40 microns

XMP-MAS-582-PYP

48. Movement of nutrients in the
eco-system is always
{a) Cyclic (b} Linear
(¢) Parallel (d) Horizontal

49. Inverted Pyramid of Numbers
and Biomass, are found in
(a) Parasitic food-chain and

forest eco-system
respectively.
(b) Grass Ecosystem and

eco-system

fo
tiveiy.
'[r:)CJ‘

arasitic food-chain and

\;' Pond eco-system
respectively.

(b$' (d) Pond eco system and forest

eco-system respectively.

50. In India the area declared as a
*Biodiversity hot spot” is
(a) Himalayas
(b) Aravalli Ranges
(¢) Vindya - Satpuras
(d) Mallamala Ranges

51. In a food chain which of the
following 1s considered as a
primary producer ?

{a) Heterotrophs
(b) Autotrophs
(¢) Plants

(d) Predators

(21 - A}
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52. Suitable impurities are added to
a semiconductor depending on
its use. This is done in order to
{a} increase its life
(b} enable it o withstand

higher voltages

(c) increase its  electrical
conductivity
(d) ncrease its  electrical
resistivity
53. Rain s falling vertically

downwards. To a2 man running

east-wards, the rain will appea
to be coming from &'

(a) east
(b} west .%
(¢) north-east

(d) south-g

54. Which of the following 1s an
example of “ex situ” conservation 7
{a} Wild Life Sanctuary
(b) Seed Bank
(c) Sacred Grooves
(d) MNational Park

AMP-MAS-552-PYP

55. The India-based Neutrino
Observatory (INO), a world-
class underground laboratory
for neutrino research is coming
up at
(a) Pottipuram in Tamil Nadu
(b} Rajkot, Gujarath
(¢) Dibrugarh, Assam
(d) Jaitapur, Maharashtra

56. Which o ollowing planets
d from its planetary

our solar system ?

% Umnu,ﬁ (b) Pluto
& ) Neptune

(d) Venus
57. On a clean glass plate a drop of
water spreads 1o form a thin
layer whereas a drop of mercury
remains  almost  sphencal
because

(a) Cohesive force for water is
greater than adhesive force
with glass.

(b) Cohesive force for
mercury 15 greater than
adhesive force with glass.

(¢) Density of mercury is
greater than water.

(d) Adhesive force for

mercury is greater than
cohesive force with glass.

{23 - A)




58.

59.
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58. Consider the motion of the tip
of the minute hand of a clock.

In one hour

I. The displacement is zero

1.

. The distance covered is zero
3. The average speed is zero
4. The average velocity is zero

Select the correct answer using

the codes given below :

(a) land4
(b} |and2
{c) land3
{d) 2and3
°
59. If the carth is at ourth of its

present dist om the sun,

the duration of the year will be
(a) half of the present year

(b) one-eighth of the present vear
(¢) one-fourth of the present year

(d) one-sixth of the present vear

XMP-MAS-552-PYP

1 %’when it
termmnal of AC mains but does

6. The weight of a person on earth
i5 less at equator than at the
poles. This is because
(a) equatonal region is hotter

than polar region.

{(b) the earth 13 flattened at
poles bulged a
equator,

{c)} the earth’s surface at poles
is covered by ice.

(d) the moo g round the
-..arlh a less force on

m Lqualur than at
pn

our homes, a tester glows

and

touches the live

not glow when it ftouches

neutral terminal. The reason for
this is

(a) current is always converted
from AC to DC when it is
supplied.

{b) the live wire 1s a conductor
but the neutral wire 1s not a
conductor.

(c) the neutral terminal is at
the same voltage as the
ground.

(d) current flows only through
live wire never througly the
neutral wire.

(25- A)
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62. The gas used for arificial

ripening of fruits is
{a) methane
(b) ethane
{¢) ethylene

(d) acetylene

. The reason to keep us awake
and sometimes sleepy even
when we are not tired, is due to

a hormone called
(a) Adrenaline

{(b) Adenosine

(¢) Thyroxine w
G B.

(d) Serotonin
®

. Mass number atom 18

equal to
{a) number of electrons
{(b) number of neutrons

(c) sum of the number of

protons and neutrons

(d) sum of the number of
protons and electrons

XMP-MAS-552-PYP

65. In some parts of the world,
during severe winter, the
surface of the lakes are frozen
leaving water below. The
freezing at the bottom is
prevented because

(a) the conductivity of ice is
low,

(b) the water has large latent
heat of fusion.

{¢) the water large specific
heat,
{d) the ture of the
ea the bottom of the
9% s high.

&hm are many different
regions to the electromagnetic
‘& spectrum. These include

A, visible light

Hamma-rays
infra-red
micro-waves
radio-waves

ultra-violet, and

ommgn

X-rays.
Put them in order of increasing

wavelength, starting with the
shortest wavelength first

(a) GBDAFCE
(b) BGFADCE
(c) GBAFCDE
(d) BGFACDE

(27 - A)
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67. Consider the following
International Environment
Conventions/Protocols/Conferences

with their major themes :

1. The UN Climate Change
Conference held in Poland
in Dec. 2008 discussed
Development and transfer
of Technologies, financial
mechanism, reducing
emissions from deforestation
and forest degradation and
Disaster Management.

The Basel Convention in
1989 was on the Control of
Transboundary movement
of Hazardous wastes and
their disposal.

[

3. Montreal Protocol Hﬂﬂpt%
in 1987 referred to t]‘lex

specific measures to
taken on suhstimc::@lt
deplete the Ozo Ver.

4. The Vienna tion in
1985 the
Intern Trade in
Endang Species  of

Wild Fauna and Flora.

Which of the above statements
is/are correct 7

(a)
(b) 2and 3 only
(c) 1,2and3 only
(d) 1,2,3and4

XMP-MAS-552-PYP

1 only

68, Biosphere Reserves have been
established 1o conserve
biodiversity = and  genetic
integrity of plants, animals and
microorganisms, Consider the
following pairs :

Bisosphere State
Reserve

I. Dehang- : Arunachal
Dabang Pradesh

2. Manas : Assam

3. Simlipal . Jharkhand

4. Agast : Karnataka

Whi f the above pairs are
tly matched ?

| and 2 only

1,2 and 3 only

1,2 and 4 only
1.2,3and 4

O

(c)

(d)

69. Consider the following plant

cell organelles and their specific
functions.

1. Chloroplast : Photosynthesis

2. Mitochondria : Respiration

3, Nucleus . Secretion

4, Ribosomes : Protein
synthesis

Which of the above pairs is/are
matched correctly 7

(a) 2only

(b) 1and 3 only
(¢) 1,2and4 only
(dy 1,2,3and4

(29 - A)
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70. Consider following propagules :
. Rhizome of ginger
2. Tuber of sweet polato
3. Bulbof onion
4. Sucker of banana

Which of the above
modification of root ?
{a) 1and 2 only

(b} 2 only

(c) |and3only

(d) 1,3 and 4 only

is/are

71, Genetically modified organisms
are  developed in  modemn
biotechnology using which of
the following technigues 7

. Insertion of genes from other

Organisms,

2. Removal of part of the genes.

3. Introduction of gene mutations. ©

Silencing of some gene/

Select the correct answe$

choosing the codes given
(a) 2,3and4d (b)
{c) l.3and4

—

.

72. Venkataram
his co-worker got the Nobel
Prize  in 2009,  There
investigation was on the
structural  characterization of
Ribosomes and they used the
experimental organism viz.

(a) Pyrolobus fumarii

ib) Sulfobolus thurbers

(c) Methanopyrus Kandiers
(d) Thermus thermoephilus

AXMP-MAS-552-PYP

73. Dinosaurs were present during
(a) Paleozoic era
(b) Cenozoic era
(c) Mesozoic era
(d) Proterozoic era

74. A husband and wife have
normal vision but father of both
of them were colour-blind.
Probability of  their first
daughter to be colour-blind is

Ea{ 25% (b} 350%
c) T75% (d) 0%
75. Mosquito 1its the

fﬂ”’ﬂg%

b i niasis
@Gﬂgue
hikungunya
[b& RTOSAT- 1 & 2, RISAT - |
& 3 and SARAL are
{a) Student Satellites
(b} Communication Satellites

(c) Navigation Satellites
{(d} Earth observation Satellites

77. Consider the following pairs regard-

ing National symbols of India :

(i) National — Roval
animal Bengal Tiger

(1) Natonal — Hanuman
heritage animal  Langur
of India

(111) National — Elephant
mammal of
India

{1v) National bird - Peacock
Which of the above pairs are
correct

(a) (i)and (i) (b) (iii)and (iv)
(¢) (i)and (iii) (d) (i)and/(iv)
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